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arg-Up Mendoy
Turn in your 10.1 assignment if you haven't
already, then post on the padlet (link below)



https://padlet.com/Korotkow/prom2k18
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Question:

03¢ &9

log, A=x exponential form:

8= base

A S\ glumun
X = eXxponehn

How do I convert an exponential equation to log form?

l(YJ\gx . x S'natrvral \03M
0 \p=XE \DGe X
Base Je

0 =~2-%F\....
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i How do I convert an exponential equation to log form?
Question:

Rewrite as an exponential equation

log.9=2 log1000=3 In3=14" (
109e, =1,
V-0
e

=
Rewrite as a logarithmic equation

=32 107 =100

lb3132==5

\oQ‘L\LUa-°‘==55
R
(n\43.49:=9
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Question:

“Evaluating Logs

How do I convert an exponential equation to log form?

log 16 =

=\

k=

2

log 27 = K
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688@“}'@52 How do I convert an exponential equation to log form?
Questien:

Exit Ticket on google classroom
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10.2 - Logarithms

Express in exponential form.

1. log,16=4 2. In1=0 3. log, 27 =-3
3

5. Iog%:—l 6. log1000=3 7. 1092%:—3

Express in logarithmic form.

9. 2°-8 10. 107 = 1
100

13. 42 =2 14. 27% =3 15.

Evaluate without a calculator.

17. 10g10,000 18. log,32 19.

21. log#
100,000

11.

22. 1092% 23,

3

6254 =125

log, 27

log, 1

Name

8. log,64=2

20.

24.

ol
1]

co|r

log10

1
log3§

. 2% =1024
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Evaluate without a calculator.

25. log, 27 26. log, 8 27. log,, 81 28. log, 32
3 2

1

29. | 16 30. log+/10 31. log, 81 32. log, —

09 0g+/10 og% og; i

Use your one of t h 56, to esfi R laces.
33. log, log,  log, 5 log. 7

37. log,,,1000 38. log,,, 250 39. '09'12%

VY A xox V!

April 09, 2018
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orm-Up Wednesdoy

1. For all real numbers x and y, o Slmphfy the
which of the following is always . 5o Yb'V
true? A expression ﬁ a
X(@ = 6x3 1’5: 3 " (25\@2 (O\/2
()6 = xdys (5 ) g’\ 28 <0‘ ) (b 3

2)(v2) = (Exv)2 ‘e 2 '),6\ -2 - J
Gx>)(y2) = (Bxy)? 264 5 L b

(xey4)e =14\

_https://padlet.com/Korotkow/prom2k18
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